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B List diffarent addvessing modes of PIC 18 with tImples,
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TE Sem ™y, (B GS)
EyTe | 3]s |
C 0" f.ﬁ'f”“ﬂh
il Subr-De et

{).P.No.: 6278
Dyretion: 3 Hrs : ; o Ttal Marks: &0
A Question Na 1 is compilsory.
atmept any thres questions aut of vt Ve
All questionz carry equal macks
Agsime Suitable deta, iT required and state it clearly,

1) 12l}
a) Describe in brief fovr types of Trade-Offs thar can be eccomplished by usi:;g-._"-‘r-rnr
romecting code, ) s
b) How is signal bandwidth sppead in ¢pread spectrum modu'ation?
) Whatis Endropy of an information souree? When iz entropy maximygm?
dl Wl is gram Schmitt orthogonalization procedurs? Explain? :
z) ‘Distinguish between Marchad Slter and Coreltor.
Y 2) Congider 3 DS 5= (51, Sa, 81 S59with fiollowin E messazs prohabilitzs (107}

o o

Sil 5 S | & | 8 ] Sy 4 B | 51

I | = — e
(Ploo | 040 | 025 | 005 010 [ O05°[ 003" B |

L] . -.n -. h
Encods the sonrce usipg Huffmen algonrithm. F:nmf@ivcrage code lenpth and e tiency

=

k) Explain the neceszity of line codes for data Trq:zs‘;hissiun. State different types of line codes

Plal pover spectral density of NEZ signal. .h (10
- -\.‘\-.:.
Q03] 8] State end explain maximum [iksiihood deciston rule, Explain the et of (10

.. Soerzlator repeiver. £ :
3 Dl T ity of BESE svstem wi
| Derive the #xpressian for error prabability of BESK system with coherent deceetin;, (10

.
"

Eﬂ] 4 Draw and explain the block diagram of OQPSK transmitter. Skotoh fhe wavelorms gt 1he
“Loug of each hlock af the (rEnSmitter, “;:'El

TURN ovER
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i atrix af the code. | |
1 $i3 “Tmfam}d.:;:ngirl:;e received vector 1 101 01 0s thas o valid code veed
) Compute the Y1 |

T —
| Design Encoder for an (8,5) oyelic code With generator glx) =1xx’+a Vise s encals
Q5)e) Desi

' tic form, (i
' the message (10101) in systemn .
to find the codt '-.".l:ll.d for Jiageam for L= 3, rate = 3 convolution encoder penerled iy
v} Draw the state Diagram and Tree E: - “[II
eyx) =%t W, )= 144, gy(x) = 1+xtn . _

Ty s ;
(36) 1) Whet are two basic types of spread specirum systems? Explain the basic prinsiple of £
a b

(19
¢
{ them. R g
:] Explain in detail 16-QAM transmitter and TECEeIVED sxsﬁ;m Draw and explain signd i
consteliation diagram for 16-QAM, ‘:-h
2
[
)
a::
£
.". .\.,-"
&
s
hE
.T;*'
&
A&
r_j'
2" MD-Con, 7333.45.
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Ef_;;"”i L OF Code : 1927
(3 Howrs) | Tootal Marks : 100

WB (L Question Mo, g cumpilyyry &

2 El d

Ir...,.l Admwr fany fu.ur QuEsions from the remaining six guestinns

:‘l__l .l‘;.al.um: ANy auitakle .'ja_ﬁ whirsypr FET £

M) Figures 1o the Fght indicate Tuill mﬁﬂr.'.'.. i
I, Answer the '."n]i'nwjng : 12

fa} Maewell's squstony for harmanic vagiagions
(0} {rround interference effisats

(t) Explain differcrl tvpes of anienng lasyes

(dl FRHS trensmission famuta

', e 1 - L} P s Poge e iz o
2 (1] !;'Ln_vt1.|t Gipressian for radiation resistance of sn infivilesimal dipole, explainiss 10
aigmificance, e )
ity Explain the significance of the porn "Effective Area of an Antenng", Derive the L1
relationship between effectivie area and directivity of anysritanns,

il
I'-.-'

3. ia) Derive the army faetor of en M- elsment Lrifoem Un;él'fn.nﬁ? and heoce deducethe 10
conditing for which the array will radiate in the brobdside 0 d end fire direction
(b} What is fulded dipoleantenna¥ Explaia i f-JJ§%}7j0|J. eyualon, Propics and i
applications W

=
L

oL ;
£ {8 Explain with suitah!s diagrem the -.r,m::;*_};m_i; of Loz Periodiz Antenna. Weita s pruchicz] 19
applications, 2 -;."5' ; -
) Explain the diffzeent types of hoim entennas. Fiad s direetivity and bezimwidih 1

-

3 (%) Diemwrand explain Yagi ﬂ_mﬁ,i,’g_ Sketch its radiation rattern. Write she apnlicationg of 10

Yau Artenna, A i g
") Explain the differspt componen's of the ground waves. "What ure frequency 1

characteriztios of ground waves?

i -"-I_. ' 1] gt 1 diae
L, (2} Explsin u_u:p:in.:jpa] modes of operatin of helical anteanas and draw jig raciation -

pattemy,+, - i e R
(b Expluip the mechanism of iseloupic propegiin. Dele witical frequansy, M7

and (T

e
(=i}

T

o ok ﬂl’_lftj' on L
(8} Retarded potential and its epplicalions
g ) Slesve dipole

f [t) The etpuivalent noise temperarire
) Dielectric waveguide.

_ .o, 8456-15.

af ain antenna
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DT 2y

Ejﬂt b - TIsp
QF Code ; 6320

(3 Honrs) [ Tatal Marks ;80

ME. (1] Quastion na. 1 s EOMmulsnry,
[:j_] Iﬂurr:'e any th]'El:‘I:_I'L'I:ﬂiU.EIE from LI five questions &
i3} o all fuur questions tn he tompred. | 3
(4 Tigures (o the right indjegze Tull marks 4

I {20 The fiest [Tve points of aivhe e = )
| {075, 0,125 -'53;:; I:II; EJSD.,;,P-E:'I“I .l:',."f'T oI real valoed sigal ars i
Pnir”; = .] . s Y, '::Iuj.n."."'J-J_ﬂJ :D. |:]:|_ D:[E}]]’Li][& 1]‘|E :’E.’I:IEi.'li!'lE 1]1::6
e ) i . . , H ;
1l ::-Llh;rﬂ;isi:ﬁj:;nc}* respanse and identify the following filtars based
& 3 [ ! % v .
1 =
i biw) =4 1,—— fartE -
) 1 7| ;? ; e
) HE = ""
& n 1—a - ‘:
(el What is multirate D&P? State itz applications -5
i€)  Ananslog filter hzs transfor funation i
51 P -
S e TR
. IBs) = S0y +16 . 25
- = ) ey By .
Determine trensfer fenction of J gm!! iller wsing baiinear ranstormation,
The digital filtcr should have a SEEFE"FF"'&H':'” of &, =%r
T :
= FE“ .
a0 Compure DFT of sﬁquenﬂ";f:fﬁj =(1.2. 2,2, L 0,0, 0} using DTE-FFT 19
S :
alporithm, L L
(b} Explain the effects o[ corfficients quantizeliun i FIR [lters, (o
- g
[

) Inplerent 4 Lw;g.,ﬁ\‘iaﬁée rIE:L[neti:Jr J;IIJF B?ﬂﬁllf?'r?iﬂﬁ specificetion;
‘pampling rau_:r‘g'f'ﬂm input $IEREL= 20,000z,

Decimating factor M = 1 0g,

Passband =0 1o AUHE

Passhaghd ripple = 0.01,

Trariifion band = 40 to 0812,
a 5+, 7+8j}. Find DFT Xik) using DIF. 10

&£ TTAR
. 'Sfod band ripple = 0002
I'h.ll T =]+ E_I &) T'\;1'.-|?
arl)  Ifx{n}=1 !
r:!g‘l::ﬂ FFT '_-:.Eg':lnlth'ln‘ b
fad 3
e | TURN OVER
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QP Cﬂﬂ.& : Eazﬁ

, - in detail and detive for inpu.

lain wpsempling process 1 . Put-Gutput relyy,

4 sﬁamc domain end frequency domain. oy I
(5)"* Obtain cascade and parallel realization structures for the Syt

by yin) = 0.1y(n=1) + 0.72y(n-2} + 0.7 x(n) -{}.151.“‘&_ N Em dmtﬂhm I

Pecificas..
. - . . 3 S, !
& Hig" = ¢ 0= I| l_'ﬂl < T
=1 otherwise

T
i Y

Use Hamming window of length 7

(b)  Designa digital low pass IR Butierw s>
veg e Passhand rlzpple o f-lguftdfgr e fﬂﬁﬂ‘-’ﬁfm'i;'spacjﬁtam '
Passband edge 4 KHe
Stopband attenuation 40 dB e
Stop edge BKHz -V
_ Sampling Rate T 24KEp
- | " Use bilinear ransformation : el
: &
6. (8}  Write a short note ;:m: r%"gﬂ

. , N
E:l?j %ﬂﬂ tone multi frequen T\’E‘.ig,rml detection
s . ifferent methods fnrc@x%lal signal synthesis
(6) " Determine the ZETOS i

of the following F indicate whele
the system ig minimum nhi © g FIR systems and indicate

1 38, maximum phase or mixed phase.
(i) H][I}=ﬁ-1-1"r—“lﬁfi
Lo B Egef

(i) Hj%g?ﬁ_ P

(iv) @ﬁn ¥oa &
‘(\j : TI -_3-1‘ i

{'I{.-' 1 h'.ls i
. {E{; Comment on stability of minimum and me imurt P
o)

O ="
AT
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E
i
'
Rl
'
\
B
i
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II
i
[

13 Explain Shanaon iam e Thiearers
fol  Derive the sond: 3
! v I06 condition for MR entropy of 2 eanres. Thom Sis 3t o i
with probabilite? ' greeitiae
I_d_f Assess the -."EE_IT",;]‘::J[ pararmeieis inr I__.,...:__ & PEM et
fel Compare - - it L Ly 8
(i} Systematic and Mo Systemamis Codes E
(ify 16-PSK and 16-(ak
L) Draw the block diagram of OQPSE ransmittsr 4 R irees
B L b by 5
3= 001011010010 i3 10 be transmined. Ske qeh the wevefnmm 2t the aim
eacn block, Lo
(11 Explain the tensmiller snd receiver o F.!—"F.I{s}-g::- nwith & Mook diasrs 5
Interpret Wiy errors ocour in baiss i g ._‘.I':J" osvstem”? Suppor it '
example,
It} Describe the properties of Matchzd Filter 2
T
i Derive expression for probability of error for an Optmum Filler Henze dosis 1

lhe Transfer Fuaction of &n -,':'T"l.J.'I'.I"

[ I ]
(&} For K=4, 1/3 zale convolition
£, = (1000), 2, = (J11]] 2nd g, =
E'h; D[JCL- :J--Eur m I:,I'_'Im..".llf e ]'I:"f I'h B

S piven by the 4 bil sequence 1610 fing the cn_u.,
ll" seneralor polynomisl for a.(7.4) s¥stermalic ©

5l the code polynamin! for messag

r1'=~5|-I'm:t|5' it sizffars Lransmission eTTor find ke syndrome

U
& k*'”ﬂ- 9551.15.

Explain the concept of QAM. Direw 2nd Explain QAM transmiver o2

neoder, the EENERAIOT VECIOIS Are Sivas a:

]'_I'“rll.I:I

T2 e
i

1 Drew the black

L ]
1E]

gme. Ifthe '."uu b '~"'".*.':~'.r::.-::_5._

C
Tapd®
wd

1 L}
e e s dada tre
e EI:[LJJ]]I SR L VAR N Esr
B o
'\---u..'.-'
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QL% Code @ 1980

.,
g (a) A DME 'S produces the svimbols A, B Cand 1 with probalilities 0.4, 025, 1
015 and 0,20 respectively,
l-.!i'l .]Ll.'.ﬂiﬁn- whether the outpn of this sourie can be comp caseil-5i
that the sverage code word length is 2 bits.
'ﬂ-ﬂ Create a Hu ﬂ.llltill.'l code For this govuree ansd caleulale its efliviency,
) The binary data [T0 L1100 10 1] is applied at the input of 4 modified duo- 10
binary encoder.
{i} Prepare the encoder and decoder puput without precoding,
(i) Suppose during transmission, the drd bitis in error. Constiid the
receiver output,
(i) Recommend a technique to avoid error propagation wnd illstrate
how this can be achieved,
5 (a0 Derive the PSD fora Unipolar NRZ ‘-"-'.1‘.'1:.1'L1rr|1. ) ) :::
b} Fora(6,3) systematic linear code, the parity check digits are grem ds
C,=d +d +d
C,=d* d,
C =d +d,
(i} Find the generator malrs,
s Th: e wcl‘?r'bl and correction capabilities.
(ifi} Determine error detecti ::. :
(iv) Decode received word G001LL
1

T. Write a short note on - (any ¥)
(i) Veterbi Decoding
{ii  Lempel Ziv Coding
(i) Equalization
iw) BCH Codes
{v) Eye Pattern

W.Cop, 9551-15.
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Seni UT (o1dy ExTe (ol d) TV
- 2 ogfinfroly

Y
' QP Code: 2025

(3 Hours) [ Total Marks : 100

wB.: (1) Al questions are compulsory
(2) Figures to the right indicate ful) marks.
(3) Ilustrations, in-depth answers and diagrams will be appreciated.
(#) Mixing of sub-questions is not allowed.

1. (a) Explainwhy (G-Y) is not transmitted in colour Television system. A S
(b} Compare NTSC and PAL System. "
(¢) Why aspect ratio is 4:3 chosen for TV, ;\._T'-"
(d) Explain how monochrome and colour TV are made compatible. {g"—_f"h
; &
2. (a) Draw block diagram of monochrome receiver and explain. QZJL 20
{b) Drew and Explain chromaticity diagram. ﬁ‘;'
1 (8} (i} Draw composite video signal and label different parts ﬂﬁ‘:ﬁ same. 1]

(ii) Explein why vertical synchronsing pulse s selected:=.!
{t} Draw and explain different sections of Image ﬂrﬂ::nsuugumm tube.
.
4. (&) Draw PAL coder diagram and explain. e 5
{b) Explain how phase error get eliminatual in F..ﬂi_..{l,. sterm.

*
5. {2) Draw deltra gun picture tube and explain @'&ing. : : 20
(t) Whatis AGC 7 Explain to which snnﬁqﬁs of receiver AGC is applied.
&

b (&) Explain interlaced scanning wilyj’éi diagrams. 20
(4) Why negative modulation i?ﬂnqbd in TV system.
R
7. Write short notes on any twal 4
(i} CATV &

w
(i) CCIR standa@?ur monochrome TV -I.:].'st:m. ‘ o
(iii) Eigniﬁmn@f colour Killer Circuit in colour receiver circuit.

e

"

7o
“Con, 10307.15.
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03] Arwurne Foiasile dla :
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S e T e e

| (8] Give COBE s
b Explain slsesesr. ooa,
fc} Fxpluin whee 5 orgere

R e nEmSe e
fdj

o=
=t

focad. S
#ﬂﬂ 1% ﬂ'_:- J:".rlr.f"rr T

Whazt iz the nee
pulses in Lpief

£ Eguelivary T2 i

D TR creei e
-\—u_

" &
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Seginne

| |

L))

“:‘J I}fﬁﬁ'&'ﬂﬂlﬂx;_z .‘_1_1:':‘_ =
Ry o e -
ol [ — '1
]
3. (&) Explajn fhe fo 5 Of PAT sy Erpics Ba
o= —IIUEE Tfe ol I femie |

E.xp.sm -E__-EEH:‘.: Fommst fop Topess

= =

I faJ o __""':_
brief DTH frnnm --'_
() Explziz HDTV
1125 tine, e
L. -
2 shor npga on :_'E:E. famr)
(8} Aetive E:h'l pesEve :.._..1: ot LED
(b) SyochrElizstion in AL
(c) TE!‘EELLI sige bend censmissoar =
{d) Iﬂ.nl: rate and Aperopste dure saee
{':}\Jﬁim.t:‘u and Demasits of LTED Sapley
1.'1;-1..

Explein in details Fsrtre pocmas,
= o =y -
E¥stem’ W _Jm?-‘— s s

b Wh tﬁu—""“ﬁﬁlﬂ""‘*f‘"fﬂ:*-t

lI:';l"'-r"i." mesT Homa 1p ——a - o
i Lo 2 2% -"'H-'r-r-— L R oy v v Ly
Tl il e 14 2
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{2} Answer

=hb -

14 [ 1z l2el s

A5

pletee BEL= )

TE Sero YL (BXTc) - pg — A6

QLP. Code : 6444

{3 leu.ra}

(1 Questicn No.1 is compulsgry
any three questions out of the remneining five ouestions. !

(3] Assumptions made shyuld be clesrly staed,
{4} Figuresto the right indieate Rl marks,

[ Total Marks s50

(3} Assume suitable data whenever required bul juzrify the same. %
1 () ECxplain ‘-.-:Icrmht!m: Ectnel Vs Microkernel, .*'.--'f 5
{b]  Howisureal time O8 different irom normal 5% What are the -;. -._rm:n:usncs 3
of 2 RTOS? e 3
(e} What is PCBE 7 Discuss its major ficlds. 3 5
{e) Explain dilferent services provided by Operating S'.fsu:m j 5
e

I

(2]  Suppose that a disk drive has 200 cylinders, numf]\:xered Ole 190, The initial 10

keed position is at 100 track . The quene of pending requests in FIFO iy

55, 58, 39, 18, 90, a0, 150, 38, 144, Caln:uh‘!a! average seck Lime for gach

DT the following rlgorithin,
. FCFS 2. SS§TF 3. SCAN 4. gr%-:,a.m

(k) Exp]am Linux Policy for Page Rnp]qu:mcnt 10
N
5 (2) Explain memory Management widl Linked List and Ditmap, 10
M) Consider the fcl-ﬂ-::l‘.-'rmg aet Df’plﬂﬂcﬂbﬂb having thetr CPL burst time 10
{in milliscoond) J7
1=
Process GI’IHhLESI ime Arrival time
B [0 b
Pl a5 !
B 2 :
£
for eachtoY Tollowing algerithm
t 1
;‘;’;E:::;;T:tv::;ﬂ wraifing time aod Average turnaround time
; 'i; {I) FCI'S
(2) SIF g from 1103, respectively

{3) Pricrity sc

hﬁduhnghmmg priority ran

for process p1=3, P2=2
(4) RE (slige=2)

R LET-T- -

7. P3=3 as given

[TURN OVER
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Q.P. Code : 8444

(a) Explein process state transition diagram in UNIX.
d J

() Explain the working of ED

(a)
(b)

(2)

What is segmentati

F and RMA real time scheduling algonthm;

on? Explain it with example.
Explain different allocation methods for files. «

Explain table driven scheduler. What are its limitations? * _
What is Semaphore? How can we achieve the synchronization using

semaphore for producer-consumer problem ? Explain.

(b)
b -.-;-'l.#-r -:-‘-r#i'. N

e
o]
Yo o
w
v Y
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,;rg"'ﬂr CREY  mx7e (Nov ~Dpe- 9/ 12/ 20/

. svasr VD
[ QUJJ R\ D : QP Code : 6491
ﬁ ( 3 Hours)

[ Total Marks : 80
vi: (1) Question No. 1 i3 compulsory. Solve any
five questions,
(2) Figures to right indicate full marks,

(3) Assume suitable data if required and mention the same in the answer
sheet.

three from the remaining

I Solve any five from the following
t 1) Explain Level 1 and Level 2 MOSFET mode! used in ciregit simulator.

Wy |
b InZinput CMOS NAND gate all PMOS transistars have [ I ] =20 and all !

20

W :
NMOS transistors have [f)n = 10. Draw its equivalemt CMOS inverter

and find size of PMOS and NMOS transistor in the equivalent inverter circuit. a8
¢) Whatareadvantages & disadvantages of dynami logic circuit,
Why sensc amplifier is used in memory circuil: Explain its working.
t] How low power circuit is designed through voltage scaling,
() Explain hot carrier effect in short channel MOSFET.

l:l
Compare resistive load inverter, srmlralbd load inverter and CMOS inverter
on the basis of Noise margjns.lpm'rﬂr dissipation, area and delay,
Draw 2 input CMOS Hﬂﬁ;g'ﬁﬁ and using equivalent inverter approachand 1
‘ derive expression for V,, ¥y, Vo, and Ve,
1 4

' D::S[En clocked D‘FF a“d ]mpll:iﬂf:ﬂf I;lS:lﬂg standard CMOS lﬂgm style, 10

b) Dl'awlayﬂut nf‘g;-;hmng’r_ur CMOS SRAM using lambda rule, - . 10
'-H._

: ) Erp]am.;.a:'fxq hﬂm}rmumplmrmththnhﬂlpﬂf necessary hardware for

the generition and addition of partial product. = .5 .
Why ESD protection is required for CMOS chips. Explain various techniques g

"ESD protection.
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37 =
L2 -lf'llra,l [ Total Mlarks (100]

AB (1} Questions No, 1 s tompnlsory
l]:' J’LHE.IIIPII Any h:ll:lr Ut of Ifﬂliii'nl-jg Wi qu--:-:.:} ;
(3} SUPPOI YOUr ALSWirs with gest che boot o

(4) Assume suitsble darg wherever necessany.

[a} Losses in Raday
(k1 Applications of Radar

2h

(p Dupple Shift and its mle in C W Radar -_::
fd) Conical sean, 3
P anlrrermt
2 {a) Derive the radar range equetion as poverved by ¢ detectable signst to nnise
retio, Enumersts svstem [nsses, ? 0
(B) What do you enderstand by the terms dury cvcle ane un.anthizuous maee of -

aradar? Explain the techniqus for range ambiguize.

3 {2) Wkat do you und=rstand by ths t=rm clutter? Explain different ypes of mdar
Clutter enumerate properties of Sea and Land Dutler
{t} What is the drawhack in simple CW. Radae How it is overcome in CWE 1
Radar? Draw and explain CW-IF Radar fr detuil.

+ {2} Draw the functions Hlock diagram of an MTEL Radar System and explein s 10
operation. '
Defing the tarms blind speed and MTI- improvemen: factor.
(b} Describe the chisf characteristics of the radar coho Tom a trgeswhan its 1
eross-section is inthe | -
(i) Rayleigh region
(if) Resonapoeregion
(iii) In the opticel region

) Bxplain the ifect pfnoise in radar receiver’s perfomance, Deseribe noise of - 10

o -
Wviitages of large bandwidth.
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i s with spritable shel hies : ) | 1 .

ol H_":llﬂ;: fanctions L"‘I.'l..!i""PI‘ﬁ:Tl'l Explain any two Lypes of '1”1’1"!1‘.“. wiith
Wi et o

2 “mu. ﬁl":. '-HJ'F-:I':H i

. e yhort noteg on the 111'Ilr.-1.!-j|n,-€, I:,.'m}' faur)
) PREandmngc ambiguitics
b1 Phased Amay Antennas
(¢] Angelechoes gy  (C wil
() Multiple freq. €4, Radar
el '|:"-J.15.Ed Rﬂl—hf, -block Ii-l.hgl'am and "I-"i'nﬂ{.:l.'l'l.g.
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Al [estirn) [ Tradsil Fla ks o 100
w1 (1) Questions Mo, [ s compulsory,
I (1] Adtempl nny Yonr out of rermaining sy Ui
(3) Support Yuur Aotsveeas with neat skelshesd | 0iaprams
(4 Assume suitable dita wherever aceessury.
x
| {a) Lnsses in Fosdar :
(b} Applicetions of ndar 5
icl Drapple Shift and 5 rule in C W Radar p
' ical scan.
i [ L T
1 {a] Derive the radar range equation as governed by ¢ detectable eignal to notse .
) lio, Egmerate system Josses. _ _ '
(b) E'llﬂf do you understand by the temms duty cvals and um-armbiguous rmnge ol gy
a radar? Explain the technique [0z renge ambiguity. - -
3, (). What do you understend by the temm clutter? Expliin different types cf rmdar - 10
o ; i d Lagd-Lurer
ttar grumerate properties of S an i — o
) grfhuai is the drawback in simple CW. mdnﬁ;j;rr it is overcome in CWE ; |
L 3 o) il
Radar? Draw and explain CW-IF EE?LIF r i
a_ - 1
- : v Custern gnd explain i &
| 4 &) Draw the functions block disgramya 2n MTLRadar 57 |
operation. {5 Bt
Diﬁﬂﬂ e B 5['59‘?*?;';3 ﬂ:ﬂ?&fﬁ?ﬂﬂm a tarpet when I3 16
(W) Describe the chief charclgrisies @
i tmgs-section is in the o
[ () Resligher
- (i) Resonapse region
| (i) T the aptical region .
| . g % rmance. Descnbs GIEL oI o}
5_ 1, ; .y , . [-EE.E:['."EH; Fel.fﬂ
) Fuplain fhe'éffect of noise in 13 el
fignre anftinise temperatrs. . gehi of & Teceiver WIS CORIL =S
- band
) State g which influcuce (6 25
avilitages of large kandwidth.
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o vadse and explain its principle
ulse tracking I
of monop

prawthe b!ﬂzkﬁ th cuitable skﬂ“h‘:"_;' \ain any tWo types of duplexers with

Edg ﬁﬁhw block diagram and WorKIRE.
{e
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